C6bopka auBaHa Konnbpu-3

YCTaHOBUTb CMUHKY
Ha OCHOBaHMe C
nomolLLbto 6onTa ¢
wecTt. ron M8x50

YcTaHoBUTb
onopbl Ha Kopob
OCHOBaHMWA Npu
nomouu
BUHTaM6X20MM-
8wt "
camope3oB-8uT.

Komnnekmoeo4yHasi eedoMocmb

C6opka gusaHa Konnbpu-3

——— , )

————m /,//
SN ¢

\
T / D
S —_—

’
1 v

0 s

YCTaHOBWUTb CMIUHKY
Ha ocHoBaHue c
nomolLLbo 6onta c
wecr. ron M8x50

Komnnekmoeoy4Hasi eedomMocmb

YcTaHoBUTb
onopbl Ha Kopob
OCHOBAHMA Npu
nomotuu
BMHTaM6Xx20MM-
8T "
camope3oB-8LT.

Kon-eo,
nos. HaumeHoeaHue

wm.
1 OueaH 1
2 CnuHka 1
3 MoayLwKku NPUCNNHHBbIE 2

dypHUTYpa

1 Bbont ¢ wecrt. ron M8x50 3
2 Cawmopes 4,2x16(nonycdepa) 8
3 Onopa 0204 (meTans., Xpom) 4
4 BuHT notan. (unHkK)M6x20 8

Kon-eo,
nos. HaumeHoeaHue

wm.
1 OueaH 1
2 CnuHka 1
3 [MoayLwkn NpUcNnHHbLIE 2

dypHUTYpa

1 Bont ¢ wecrt. ron M8x50 3
2 Camopes 4,2x16(nonycdepa) 8
3 Onopa 0204(meTans., Xxpom) 4
4 BuHT notan. (unmHk)M6x20 8







